The numbers in this sequence increase by 14 each time.

Write the missing numbers.

82 96

The sum of two numbers is 100

Write in the missing digits.

Seb has a box of 120 cubes.

He uses some of the cubes to build a tower.

77 cubes are left over.

How many cubes has he used?

124

138
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Seb has 77 cubes left over.
He builds two more towers.
One tower uses 18 cubes and the other uses 35 cubes.

How many of his 77 cubes has he got left now?

—

Show
your
method

N—

2 marks
Megan has 7 coins that make one pound.
The coins are of only two different kinds.
What are the 7 coins?
1 mark

Harwood+Park+Primary+School Page 2 of 3



In these calculations, each missing signisa 4+ ora —

Write the missing signs in the circles.

O e e
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